CpE5110/CS5700
HomeWork #3
1)
Apply reduction of summands scheme using (2-2 and 3-2 adders) to perform the following operations:




1101110  *  1100111


Calculate the execution time of the operation (show the work).  Note:  operands are 2s complement numbers.

2)
Apply Hurson's scheme to perform the following operation.  Note:  operands are unsigned numbers (show the work).




1101110  *  1100111

3)
Apply the column compression scheme to perform the following operation.  Note:  operands are unsigned numbers (show the work).




1101110  *  1100111

